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Please check that this question paper contains 16 printed pages.

o Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 34 questions.

Please write down the serial number of the question before attempting it.

e 15 minutes time has been allotted to read this question paper. The question paper will be
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(A) 11 (B) 18
(C) 6 (D) 15

In Fig. 2, a circle with centre O is mscribed in a quadrilateral ABCD such
that, it touches the sides BC, AB, AD and CD at points P, Q, R and S
respectively. If AB=29 cm, AD=23 cm, £B=90° and DS =5 c¢m, then the
radius of the circle (in cm.) is :

(A) 11 (B) 18
(C) o6 (D) 15

30/1/1 4
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(A) 2543

(B) 5043

(C) 753

(D) 150

The angle of depression of a car, standing on the ground, from the top of a
75 m high tower, is 30°. The distance of the car from the base of the tower
(inm.)is:

(A) 2543

(B) 5043

€y 753

(D) 150
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The probability of getting an even number, when a die is thrown once, 15 :

(A) (B)
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A box contains 90 discs, numbered from 1 to 90. If one disc is drawn at
random from the box, the probability that it bears g prime-number less than

23, 1is :
7 10
(A) % (B) %0
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(A) 15 (B) 10
© 75 (D) 25
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In Fig. 3, the area of triangle ABC (in sq. units) is :

: S C | 3
-2-1 0123435 %
Fig. 3
(A) 15 (B) 10
(C) 7.5 (D) 2.5

8. uﬁﬁsﬁﬁ%nﬁmﬁmﬁmmmz?ﬁrﬁ%,?ﬁn:%éﬁ%@m
g (A ) &
(A) 154
(B) 44
(C) 14
(D) 7

If the difference between the circumference and the radius of a circle is

37 cm, then using n= :“;—2 , the circumference (in cm) of the circle is :
(A) 154
(B) 44

_ © 14
D) 7

30/1/1 7 [P.T.O.
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Question Numbers 9 4o 9 carry two marks each,

9, ﬁsn%:qmmnwﬁxéaﬁwa%;
C ABR24sx_af3og

Solve the following quadratic equation for x :

4\E,r2+.‘5.r~2£=0

10. mﬁﬁaﬁﬁﬁmﬁmmﬁ?ﬂﬁwg?

How many three-digit natural numbers are divisible by 7?7

1L %M 4 4, fiys apc & a#mh@?mwwsﬂ?ﬁ
gmaﬁaa,acamacaﬁm:%gaﬁn,EamFm
w2 AR ap - 12 3, BC = 8 ft qopy
AC =10 %t 8, &t AD, BE @91 CF #} st wm

|

In Fig. 4, a circle inscribed in triangle ABC touches
its  sides AB, BC and AC at points D, E
and F respectively. If AB = 12 cm, BC = 8 ¢cm and
AC =10 cm, then find the lengths of AD, BE and CF.

30/11 8
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12. 1o i fo6 forelt 3 % whora i o e g wwsmiw B 3

Prove that the parallelogram circu mscribing a circle is a rhombus.

13. T sl YRR & BA 52 et i qww A v F ¥ v o argew
nmmﬁrammaﬁﬁqﬁsﬁmmwmaﬁm%ﬁwﬁ#m%

A card is drawn at random from a well shuffled pack of 52 playing cards.
Find the probability that the drawn card is neither a king nor a queen.

14. 143 x?ﬁmﬁmﬁmﬁﬁm&mmﬁéﬁ%ﬁmwﬁ,mﬁm
et o A e aret geTER 7S e R ) 9y 5 1 1 5 S

ﬂﬁ#ﬁl"{l[ﬂ=??ﬁﬁﬁ]

Two circular pieces of equal radii and maximum area, touching each other
are cut out from a rectangular card board of dimensions 14 emx7 cm. Find

the area of the remaining card board. [Usen =%—2 ]

@iE"
SECTION C

T FEIT 15 8 24 % Jo0F 57 & i 515 £

Question Numbers 15 to 24 carry three marks each.

15. k% form o % R fiema wefteeon ko (v-2) +6 = 0 % el T £7

For what value of k, are the roots of the quadratic equation kx (x=2) +6 = 0
equal ?

3011 9 [PT.O.
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17.

18.

19

30/1/1

Find the number of terms of the AP 18, 1536, 13, ;. ~49% anid find the
sum of all its terms.

another triangle whose sides are § times the corresponding- sides of first

triangle,

ﬂ@rﬁ%aﬁﬁaﬁrﬁ%ﬁ@ 1S H R 78 @ 3 e & Yy v w3
R 1 s #ior 300 2 afe FEt @ Y Far 24 41 2, o vzt @ iy
#ﬁmﬁmifﬁq.nz?&ﬁm]

The horizontal distance between two poles is 15 m, The angle of depression
of the top of first pole as seen from the top of second pole is 30°. If the
height of the second pole-is 24 m, find the height of the first
pole.[Use+/3 =1 .732]

f s fr fig (7, 10), (=2, 5) 71 (3,~4) U wAfgarg e figs &
3 &)

Prove that the points (7, 10), (-2, 5) and (3,-4) are the vertices of an
isosceles right trian gle.

10
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UF HG9 U THERRN #20 OF STeATiid EiEe So & ATHR & § 9
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13 ¥ft & | 96 1 et v Seme T R [fr=2.f‘r wfifeng

A vessel is in the form of a hemispherical bowl surmounted by a hollow

cylinder of same diameter. The diameter of the hemispherical bowl is

14 cm and the total height of the vessel is 13 cm. Find the total surface area

of the vessel. [Use t = 2;2 ]
f

TS F U B Ao & e 0 o I e o v srdien @iee e
3¢, U flaen a=mn ) aft Sem i A 10 St @ 3R smam i B
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A wooden toy was made by scooping out a hemisphere of same radius from

each end of a solid cylinder. If the height of the cylinder is 10 cm, and its

base is of radius 3.5 cm, find the volume of wood in the toy.[Use =%]

21 ¥t = 9@ g9 1w 9, FF W 60° F FIT Iiaia F B
| ST () 519 sEE () =99 g s T Serae w1 dee |

[n=%?ﬂﬁﬁ{]

In a circle of radius 21 cm, an arc subtends an angle of 60° at the centre.
Find : (i) the length of the arc (ii) area of the sector formed by the arc.

[Us¢n=%]

12
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Question Numbers 25 to 34 carry four marks each.

25. Frefafaa =i F o e ST

SR

Ya+b+2x 2a b 2x

Solve the following for x :
1 1 1

1
=—+
2a+b+2x 2a b 2x

26, @)=t Awel o AN 400 A At ¥ | AfX 396 AiETH = ST 16 T 2, &
Bt =it <Y =T e i

Sum of the areas of two squares is 400 em?”. If the difference of their

perimeters is 16 cm, find the sides of the two squares.

57 e Rt iR Ao 3 WO 7 TE1 AT 49 ¥ T 36 FUH 17 9&! =1 J1T 289
%, dr g Avft & v p TG A G S|

If the sum of first 7 terms of an AP is 49 and that of first 17 terms is 289,
find the sum of its first n terms.

28. mmﬁﬁ%%ﬁﬁgﬂmﬁ%@mﬁ-ﬁgﬁaﬁmmmﬁaﬁ?ﬁ
2l

Prove that the tangent at any point of a circle is perpendicular to the radius
through the point of contact.

30/1/1 13 [P.T.O.
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In Fig. 6, / and m are two parallel langents to a circle with centre O,
touching the circle at A and B respectively. Another tangent at C intersects
the line / at D and m at E. Prove that < DOE=90°,

- A D

Fig. 6

30.  TF HFR % 9re-fig & w wad % Rrew 1 35w oy 30° 2 3R a7 ¥ ure-

forg & i 3 fRre =1 3= Fw 60° %1 7R FAw 60 0t S+t |, o wam
; S 319 Fifd |

The angle of elevation of the top of a building from the foot of the tower is
30° and the angle of elevation of the top of the tower from the foot of the
building is 60°. If the tower is 60 m high, find the height of the building.

30/1/1 14
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3. UHUYEH 12 =6 & 590 ¥ 3 2reaiees T, 317 6 it $9Mer a91 9
AT A & | WE A ¥ U =i Argesdn g T | A vl i %
ST ) WfeRa B9 2, @ wifimar e e B g wn st () st
S 2| (i) FeAfE FEE wuE SR ) AT get F & Rew e
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A group consists of 12 persons, of which 3 are extremely patient, other 6
are extremely honest and rest are extremely kind. A person from the group
is selected at random. Assuming that each person is equally likely to be
selected, find the probability of selecting a person who is (i) extremely
patient (ii) extremely kind or honest. Which of the above values you prefer
more.

32. U WHI Sg4St ABCD F 9 ¥fd A(3,- 4), B(~1, -3) a91 C(~6, 2) &1 3fd
D % Féeri s1a Sifsm aer ABCD %1 gt sma Hifsm |

The three vertices of a parallelogram ABCD are A(3, — 4), B(-1, =3) and
C(=6, 2). Find the coordinates of vertex D and find the area of ABCD.

33. 2 &t oriaRes = et SR uTen ¥ U 0.4 /Y R Y T SoER Iw
T @ B | Afe Fo 3 smam i s 40 ¥ B, ) 9 Hifsre £ s a2 1 S
U %1 T R =5 S|

Water is flowing through a cylindrical pipe, of internal diameter 2 cm, into

a cylindrical tank of base radius 40 cm, at the rate of 0.4 m/s. Determine the

" rise in level of water in the tank in half an hour.

30/1/1 15 [P T.O.
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g I =R A S IR A gl v wwd viF F foww b w2,
TEUTS 24 Ui & G T S0 a1 Pt g RRt % =ma w30 S w0
10 Tt &1 38 M F @l =t 1 9e7 w90 10 9 100 = A6t B T 3

Frfse | [n=3.14 =i

A bucket open at the top, and made up of a metal sheet is in the form of a
frustum of a cone. The depth of the bucket is 24 cm and the diameters of its
upper and lower circular ends are 30 cm and 10 cm respectively. Find the
cost of metal sheet used in it at the rate of Rs 10 per 100 cm”. [Use n=3.14]
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